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Introduction to N7y 1IN — YWD o

This chapter continues to define nx¥1m »w for various materials — with a significant tangent at the
beginning. In the last mwn of the previous P19, a verse was used to demonstrate an allusion to a particular
MYY; the mwn continues with that modality and shares 6 of y™’s Halakhic inferences from allusions in
various verses, ranging from the disciplines of n7MvY kMY to BRYY and to Madn oy nmay. This is
somewhat similar to the "p11 12" series in n"a nVIO.
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L x mwn: y™’s exegesis that 1"y has same status as T nkmMY for Xwn NrMV-v. 1
a. 2177 anay. if a house was next to a 1"y na and it fell, may not rebuild without first pulling 8”7 into property
i If: the wall was shared, it is %2 his and %2 "y = y7w2 Rnon (per v. 2)
ii. Dissent: ™ — is Rnon even Rwnias a N (v. 1)
1. 737 allusion of o — treat it like a “foreigner”; “15 9nRn R¥” - push it away, not towards
b. 7727 all agree (mnom y™) that 1y has Rwn nrkmv, per v. 1; dispute is whether xnon jar nkmv applies
i. Y”7. even Rnon jar NRMY, per v. 1
ii. /227 ot RNON JaR2 RNOY, as it is also compared to PV (No RNON JaR NRMV) — V. 2
1. p75 v. 2 compares 1"y 'wnYn to PV — no RWN NRMIL (Or RNON jaR) - only Yan NRMY
2. p375v.1 - teaches that 1"y is Rwna RnVN, as is NT
a.  Challenge: why not compare 1"y to n511 (also has Xwn nrRmYv)?
3. (accepted) 13375 v. 1 teaches that just as N1 has no narY nRMY, 1”» has no DMaRY RNV
a.  Explanation: if a woman’s limb is cut off, not N1 Dywn rnwvy; similarly, if 1y is made of segments
b.  Notfe: X111 72 RnN 1’s question if 1"y is 012RY RnVN — only asked according to Y™
c.  »”r all agree that Xnon 128 nkmY doesn’t apply; dispute is whether 1"y has Rwn nrmv
i. »77.v. 1 compares 1" to N1 — just as 171 has RwN NRMY, so too 1"y has RWN NRNML
ii. /237 v. 2 compares 1"y to PV —just as 7w has no Rwn NRMY, so too 1"y has no XYn NRML
1. y”5 v.2 compares "y "Wnwn to IV — no RYN NRMY, only Yan NnrRMY
a.  Challenge: why not compare 1"y to 1911 (also has Xwn nrmv)?
2. (accepted) ¥”1%. v. 1 teaches that just as N1 has no ©1aR5> MMV, 1" has no 0MaRY NRMO
3. 3752 v. 1 teaches that just as 1T has no D1ar> nrkMY, 1"y has no DIRY NRMY
a. challenge: X1 92 8NN 's question if 1y is B12R5 RNYN — is asked according to neither of them
b. answer: X1 71 8NN "1 must read dispute like N4, and is asking »"7 X299
d. Challenge (to 737): Rn»11 - 13127 — 1" and its appurtenances are like y1w; p™ — it is 1713, wRWN like Y7V
i. Answer (for 737): no stronger than 1:3 1"y — the wood, stones and dirt are p7w3 xnon
1. However: we explain there that it means that it doesn’t have Xnon ja8 nkmMY — same explanation here
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e.  Challenge (to 737): Rn»71 —non-Jews and 1"y are Rnvn, but not vVO’N (RWN); ™ — both they and von

i. Answer (for 737): 71911 7121 certainly have xwn nkmv (132970 — NP1 in spite of v. 3)
ii. 727 1"P) 11901 7101 — have (Vo) RN Yan and RNON 1aR; 1"y only has yin and Rwn; ™ extends jar
RNON to 1"y

iii. N7 1"PY 11121 7121 have V'R ,Yan NrNML and RNON Ja8; 1Y only has Yan; ™ extends Rwn (vVo*N) to 1y
1. Challenge (»wx “7): wording of Xn»a — joo'm 10

iv. swN ’1. means — if N/719) move others/others move them —o'xnv; 1"y — only if others move it; not
noYDNY RN

1.  And:1"y »onwn — whether they are von people or people are v’on them — nNL
2. p”: equates 1"y to N0 M2); agrees with 13117 about wnWN (no VO’N NXMV in either direction)

a.  Question: realistically, how could 1"y be von people?

b. Answer: per %7 war — if a 21 is in a weighting pan and food in other pan; if he weighs
them down, they are 8nv (as he has von them) — parallel — if 1"y were in a weighting
pan and the person in question in the other pan

3. Note: Xn12 which singles out ar as only von seems to be contra ™ (he would include 1)

a. Defense: even y™ may agree — meaning is a1 and all associated

II. %292 RN "7’s question (referenced above) — is 1" susceptible to NkMY when in segments (07128Y)?
a. Approach#1: if an amateur could restore it, all agree that it is considered whole even while taken apart
i. Question: if it can only be restored by professional artisan
1. Lemmal: since an amateur cannot restore, considered deficient
2. Lemma2: since nothing is missing — not deficient
b. Approach#2: if an amateur cannot restore it, all agree that it is considered broken and not nkmv Yapn
i Question: if an amateur can restore it, is it "RmY apn?
1. Lemmal: since it could be restored by an amateur, consider it whole
2. Lemma2: practically, it is currently apart — and shouldn’t be nxmv Yapn —pn
II. nRr 92 "27NR 7's question: what is the status of 1"y that is less than n’r5?
a. 9oy 17 what is framework of question?
i Cannot be: for M’k —even 1" as small as a fly is MOR, per exegetical read of v. 4
ii. Must be: for nRm0
1. Lemmal: since it is compared to y7w (v. 2) —just as p7w has nw1Y32 "NRMY, s0 too 1"y
2. Lemma2: since 1"y is compared to nn (v. 5), just as nn is only 121 ®NVY, so too 1"y
a. Answer: per v. 5, "p:nn >no nRMV if less than nr
i Challenge: why not use each comparison R1N7:
1. p72. to extend 1"y NRMIV to NVTY
2. 77x to extend NRMV to RNON 1A
3. n1p: to extend NRMY to YR NRMY
a. And:include all three of these MmN to DR NRNIV)
ii. Answer: 1"y nRmMY is, after all, 13297;
1. And: when we have pwp>n that are both »pn and nnn, in a 1312797 11, we prefer
the R1p
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